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L Suppote that the growth of a population y ~ K1) s given by the logistic equation y _’-,—- o
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a) What Is the population at time 1=0? : X WO (5 ‘J
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b) What i the carrying capacity L2 (Hint: It s not 60, Carrying capacity = lim .. )
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©) Write an initial Vn1m~ (!Iﬂc-wnnnl equation &immﬂm Whoue answer would above given logistic
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2. Suppose that the growth of a population y = () Is given by the logistic equation
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a) What is the population at time t-07? g =0w-oo [ ® & ¥¢
b) What Is the carrying capacity L? (See hint for 1b) €= 9{*"\, 1 oo l 7\ {'___f'._'_L_l\_
¢) What Is the constant k? .\ vooosl T

d) When does the population reach 75% of the carrylng capacity? 1 %v ok 100D = 150
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3. Suppose that a population y(t) grows in accordance with the logistic model Liﬁ 10(1-0.1y)y
dt '
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a) What is the carrying capacity? (Hint: When a logistic function approaches capacity, the rate slows
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down and approaches zero, For what pvalues does -f 0) (M ‘\‘
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) What is the value of &7 \ K210 \

) Tor what value of y Is the population growing most rapidly? (Hint: You find the maximum of any
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function by finding its derivative and critical points, The derivative of = s —‘,Z In other words,

di di
find the 2" derivative, Where it equals zero Is where ‘-0,-) has Its maximum and mlnlmums )
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4. Suppose that a population y(t) grows in accordance with the logistic modd ﬂ 50 —0.001 "
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a) What 16 the carrying capacity? (See hint for 5«l)h\A A ()hl‘\\
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b) What is the value of K7\ ¥ 20l
¢) Forwhat value of y Is the population growing most rapidly? (See hint for Jc)
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